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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) udiemel TEge™ U= U U W AR AHEEq: o |
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) =\ WA T A E |
All the questions are compulsory.

3) ek U T ST &1 T3 I-Yfeaent | & fored |
Write the answer to each question in the given answer-book only.

4) 9 gt ° raie @ug g, 37 Ot & SW uw |y @ o
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) ugauA o It 9 ST HuTar | fohelt T <l e / o / Terienw e g+ we Tt
WTYT <6 T99 hi TET WH|
If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.
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6) Iy W&l 3k ek U9

1-13 1

14-24 2

25-27 3

28-30 4

Q. Nos. Marks per question

1-13 1

14-24 2
25-27 3
28-30 4

7) ueA A 21 qar 27 @ 30 ® sreaties faemed g1

There are internal choices in Q. Nos. 21 and 27 to 30.

8) Ul W Shelghele o SUANT Y AT TE B

Use of calculator is not allowed in the examination.
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Tereht wTeTeR W gererel & “eruaTg A sl aitaiva fifm) [1]

1)
Define 'drift velocity' of electrons in a conductor.

2) U AV ATATIE HUT GRT Iedsl =t o 10 foTRa| [1]
Write the name of fields produced by a moving charged particle.

3) ghed ¥ F Ama st utewen feRau| [1]
Define Curie temperature in magnetism.

4) ¥ IXOT i ToEgA TS FAT hEd & ¢ [1]
Why self induction is called intertia of electricity?

5) Uk SATAfIa T Ut wrETaRen & g iR 100 MHz it & et st | et gt
3cud forgga grachia auTi i AT T g ? [1]
A charged particle oscillates about its equilibrium position with a frequency of
100 MHz. What is the frequency of electromagnetic waves produced by the
oscillator?

6) ‘“TRTIT AT TR H T W SRR Icae B "ehaT g1’ 38 UivereAr st A forfau) [1]
"Light added to light can produce darkness". Write the name of this phenomenon.

7) HIEIH & TUddTeh <kl TiwTaT ferfau| [1]
Write the definition of refractive index of a medium.

8) grEwHan w1 erffvaaan Rrgra ferRau) [1]
Write Heisenberg's uncertainty principle.

9) U T, Teh TEWHT (01) THUT AAT Uk Wi hl Tawt Sa1d 90 ¢ | 370 | form ot 6t
3 Sl aTeed Srferehan grfl ? [1]
An electron, an alpha (o) particle and a proton have same kinetic energies.
Which one of these particles has largest de Broglie wavelength?
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10) TS U] o TeFeH o foru figant o1 g foRau) [1]

Write the Rydberg formula for the spectrum of the hydrogen atom.

11) IR SWIE &1 U g 3uan fafkau) [1]

Write one main use of Zenor diode.

12) JEWUT E=R =T 8 ? [1]
What is broadcast communication?

13) wr 3= gt (UHF) ufter &Y srafet o1 vomor ume: fer aon grrgar g [1]
Which waves normally broadcast the frequencies in ultra high frequency (UHF)
range?

14) U TUTR Ulgeht a1y HeTRa St ariar 8 PF | afq sueht afgentati o after ol g ammeft aen
=% i 5 TR TS e vt W 3 A ot Hehe # avhan Fw SR [2]
A parallel plate capacitor with air has a capacity of 8 PF. Calculate the capacity
of the capacitor if the distance between the plates is halved and the space between
them is fully filled with a substance of dielectric constant 5.

15) ot =1 fem = 27 3& fam & i 9 s feRau | [1+1=2]

What is Ohm's law? Write any two limitations of it.

16) 12V ferega arges et qun 2Q raie gfatre 6 v aedt foreht ufodiees o wonfm 21 afe
TaH (.5A s Torega o wanfgd g1 af SfaRiereh 1 JTaRiel JTd Shifeie | aig uiaer s+ gt a
e <hi e dicear T g ? [1+1=2]
A battery of electromotive force 12V and internal resistance 2€) is connected to
a resistor. If the current of 0.5A is flowing through the circuit then calculate the

resistance of resistor. If the circuit is closed then what will be terminal voltage of
the cell?

17) 'l erag 6 Uk U 98 Uy g 8 'B' @ e el arer v | wiaae 21 9
TEYT YR STFaad 2| aeh foregga arges et o1 =eter e hif| [2]
A conducting rod of length 'I' is moving with constant linear speed 'v' in a
uniform magnetic field 'B'. This arrangement is mutually perpendicular. Obtain
the expression of motional electromotive force.
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Terera gradhra Ween @ soud fordl = @i (fafereont) @ am fefam) [2]

18)

Write the name of any four waves (radiations) produced in electromagnetic
spectrum.

19) U BIET G o ATHGIAH AYT ATIRT i WIhT gRAT /A 192 cm @4T 8 cm 2| g8kt
AL AT AUT AT i <k S kI g 7@ Hifg) [1+1 =2]
The focal lengths of an objective lens and eyepiece are 192 cm and 8 cm
respectively in a small telescope. Calculate its magnifying power and the
separation between the two lenses.

20) weRTYT Torgga TwTE ToRE Shgd B 2 STehToT Terglaet fohet g1 shehl wR TR shtdt 22

[1+Y2+Y2=2]
What is photo electric effect? On which two factors the photo electric current
depends.

21) AT S A+ FiehaT T 8 ? hig af ATl SAFEIeh |+ vl o ATH fTRaU|

[1+1=2]
HYAT
wifreh e (e gR) Tordl shgd g7 qF Wrates deh gl o A feRan |
What is optoelectronic junction devices? Write any two names of optoelectronic
junction devices.
OR
What is logic gates? Write two names of universal logic gates.

22) &R Aige it g1 wam feaRau) [1+1=2]
Write two limitations of Bohr's model.

23) ®) Al Ufaed ugted ki wihadl @l URHTYA Hhitg | gaet S.1. A feriau|
@) “C R argerg 5700 =9 1 geww @ aef 37

[Y2+Y2+1=2]
a) Define the activity of radioactive substances. Write its S.I. unit.
b) "The half life of 164C is 5700 years." What does it mean?
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24) ATgER qun foarged | st T hif| [2]
Distinguish between modulation and demodulation.

25) TEEER | AT Shig g1 J&F Sl gI-a1 il Sg hiteTu | 3¢ hel T fehat W1 Tehat 2 ?
vt gitat @k T i o1 Werur 3= dieeat Wt foRan iTaT 8 7 [3]
Describe any two energy losses occurring in transformers. How these can be
minimized?

Why electric power is transmitted at high voltage upto large distances?

26) = g fomr v gfee X' &1 A forRam | gorek uftaer 6t o smem w6 fafer swemse (3]
X
Trareft weha Tt weha

Write the name of device 'X' in the following given diagram. Explain its working

making its circuit diagram.
X

Input signal Output signal
27) Ty R gd T2 TEIE o a1 faghd & 3TN WX TehT9T o AUade HaHi hi sameat
LS [3]
AT
grfeaes fereumum fore wga 3 7 ToRef qUur <t wike gt au ashal Fsen ® dvary werfua
i)
What is wavefront? Explain laws of refraction of light on the bases of Huygens
wave theory.
OR
What is lateral shift? Establish relation between focal length and radius of curvature
of a mirror.
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28)

29)

30)

7

Teor faggfaeht @ Tew o1 fAem foRau | srva TIFag o Ueh 9HF AT H9 aR & SR
Torega o o1 et Sgeud hifsiu| emavas fos sATEa | [4]

AUAT
A T ATH AT T ATHIThd TS SATRT THRT SATAE U HIATITA hT AU hIfeTu]
State Gauss law in electrostatics. Derive an expression of electric field due to an
infinitely long straight uniformly charged wire. Draw necessary diagram.

OR
Describe the construction and working of Van de graff generator making the
labelled diagram.

st e e o g afee wu § forlRau)| et amramdt gamer utet & o1t W PRk
&I hT SITeh UTH <hIfSTU | STarvash s aATs | [4]
AYST
ufrrER w1 aiaefi e wfirds w0 ® foTRaun| et et amrargt ufetferent & ster @
Frachd Q4 T Sh<Teh ogcdd hIfaTe| STrayaeh fors aamsa|
Write the formula of Biot-Sevart law in vector form. Obtain an expression of
magnetic field on the axis of a current carrying circular loop. Draw necessary
diagram.
OR
Write Ampere circuital law in mathematical form. Derive an expression of
magnetic field at the axis of a current carrying long solenoid. Draw necessary
diagram.

TICITSE T g ? $8eh Shig &l 3UAN feTRat | gfera Sehter, ATioTeR g werTet aen sigfaa
TeRTIT <hl UEET il Shinl ? [4]
terat

wE R T %=(n—1)[%—RLJ =geud | ferdt sraae gdur @ faeen smen
TTadeh a1 TeRET TAREsit uared | geh o A1 SUUT gRT 9+ UTdferrel U &hT IHWTE 9= ?

What is Polaroid? Write any two uses of it. How will you identify the polarised
light, the partially polarised light and the unpolarised light?

OR

1 1 1
Derive Lens maker formula 7=(n—1) [?_R_] . The lower half of the concave
1 2

mirror's reflecting surface is covered with an opaque material. What will be the
effect on the image formed by the mirror?

For oo
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